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	Give three solutions for each equation in a T table and plot on a grid.
	
	Check each solution:

	1. 2x + y = 10
	
	1. x + y = 1

(0, 1) (-1, 2) (-2, 3)

	2. y – x = 1
	
	2. 3x + y = 20

(1, 17) (2, 14) (3, 11)

	3. y = - 4 + x
	
	3. y = 1/3x

(30, 10) (18, 6) (9, 3)
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	Give three solutions for each equation in a T table and plot on a grid.

	1. 4x + 4 = y
	2. 2x + y = 5

	3. y = ½ x
	4. 3y + 2 = x

	5. x = y
	6. x – y = 4

	7. y = 2x -1
	8. 3x – 8 = y


	Solve.
9. The deepest mine in the world is located in Carletonville, South Africa. The temperature of the walls of the mine varies with their depth. The temperature in degrees Fahrenheit, y, is estimated by y = 18x + 66.5, where x is the depth in kilometers.

a. Create a table to find three ordered pairs.
b. Graph the equation.
c. What would the temperature of the walls be if the mine is 3.6 kilometers deep?

10. Pamela is a clerk in the receiving department of a company. When an order of computer paper comes in, she gives a ream to each of the four department administrators. The equation y = x – 4 gives the number of reams she has left after the distribution. Graph this equation.


Answer Key mat_8_2_3_a3_1

Guided Practice
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*All graphs in problems 1-3 of the Guided Practice and 1-8 of the Independent Practice are graphed on a 16x16 coordinate plane.*

	x
	y

	1
	8

	2
	6

	3
	4


1. 

2. 

	x
	y

	5
	6

	4
	5

	3
	4
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3. 

	x
	y

	0
	-4

	1
	-3

	2
	-2


Review Practice

1. 0 + 1 = 1 checks, -1 + 2 = 1 checks, -2 + 3 = 1 checks

2. 3(1) + 17 = 20 checks, 3(2) + 14 = 20 checks, 3(3) + 11 = 20 checks

3. 10 = (1/3)(30) checks, 6 = (1/3)(18) checks, 3 = (1/3)(9) checks

[image: image11.png]


Independent Practice

1. 

	x
	y

	0
	4

	-1
	0

	1
	8
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	x
	y

	0
	5

	2.5
	0

	5
	-5


2. 
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3. 

	x
	y

	0
	0

	5
	2.5

	-5
	-2.5



4. 

	x
	y

	0
	-2/3

	1
	-1/3

	-1
	-1



	x
	y

	1
	1

	5
	5

	-2
	-2


5.  


	x
	y

	0
	-4

	4
	0

	2
	-2


6. 


	x
	y

	0
	-1

	-1
	-3

	1
	1


7.  


	x
	y

	0
	-8

	3
	1

	5
	7


8. 

9. y = 18x + 66.5




B)
	x(km)
	y(degrees F)

	0
	66.5

	1
	84.5

	3.5
	129.5



A)

C)If the mine were 3.6 meters deep the 

temperature would be 131.3 degrees F.

10. y = x – 4
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